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o2 #=2 12,0003 +3&+ 128 432
OEUX F=& 8,000& +x3&+12& 288
Osta A2F(A83s, 22 8)
500,000& «12& 6,000
ORI ZHEA == (3MA)
500,000 «12& 6,000
O&Jjet& et = 250,000& «12& 3,000
OFEItEB L Z (3 ) 300,000& x12& 3,600
OALPEAAZ (M) 300,000& «12& 3,600
OS2I EHZ(2IH4A)  300,000& *12& 3,600
O43)| € 2Y=E3 7
300,000 *3H A +23] 1,800
OZ2HM ==(100L) 72 800,000 34 & 2,400
oex= 10,200
O= A 300,000 24 2+ 12 7,200
O&=J| 50,0003 x50+ 12& 3,000
02 2324l 124,400 0 124,400
o0z32= % HA 110,400
Odstea 400,000 123 4,800
OoxMIIe= 5,000,000& 123 60,000
Oa+ER=s 1,000,000& x12& 12,000
OZAIIARZ3 2,000,000 x12& 24,000
OQHUEESIHE AIZEE 800,000& x12& 9,600
OA&EZHIS X 14,000
OAN&E=2 RXES 4,000,000& 4,000
O2=83tAl4 500,000& »43] 2,000
OF3+ 22l (X, AL, gS S)
8,000, 000& 8,000
206 T2 HI 3,600 0 3,600
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SN 252
Ha: pRIS L BBUE HL(2HUBZ/2T)
el MSD HAtS] DBIIRG (Sl &2)
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
01 TR bl 3,600 0 3,600
oxMERA 2IE 2 300,0002 *122 3,600
207 1 PN L HI 2,400 0 2,400
02 &AL H] 2,400 0 2,400
©=JI0t2 EHOIX 22l 200,0002 128 2,400
401 Al HIL 2 TH b 30,000 0 30,000
01 Al&H] 30,000 0 30,000
0=2J10t2 A&S H| 30,000, 0002 30,000
405 Xt &H3 St 13,000 0 13,000
01 Xt S EF S| 13,000 0 13,000
OANSSARE (232, OF3HHI0IR)
1,200, 0002 *5CH 6,000
oMERA HIE 7 7,000
o=z 300,000 * 10CH 3,000
SEDY 50,0002 *60CH 3,000
oTv 1,000, 0002 *1CH 1,000
BN ALOIS TYUEY FHIAY 40,000 0 40,000
401 Al 2612 S 0] 40,000 0 40,000
01 Al&H] 40,000 0 40,000
OBAM ALDIE YL FHIAY
40,000, 0002 40,000
Aot Rt Xt 5t 11,553,500 0 11,553,500
=l 2,500,000
Al 4,485,000
2 4,568,500
GLUTA AT SSUAME A (S 11,553,500 0 11,553,500
3 2,500,000
Al 4,485,000
2 4,568,500
307 212+01 & 72,000 0 72,000
04 BIRFBALR 72,000 0 72,000
oggLTA 2 72,000,0002! 72,000
401 A2 HIL ST 1,481,500 0 11,481,500
=l 2,500,000
Al 4,485,000
2 4,496,500
01 Al&H] 1,470,000 0 11,470,000
OYLATA AT SEHUAME AY 1,470,000
O& Al 700,000,000 700,000
Al 350,000
2 350,000
O Al 5,770,000,0002! 5,770,000




SN 252
Ha: RIS Y BB HL(2HUBZ/2T)
CHOl: APIBIRXHR 5 (e @
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
A 2,885,000
2 2,885,000
OB A 5,000,000, 0002 5,000,000
3 2,500,000
Al 1,250,000
2 1,250,000
03 Al& S CHH| 11,500 0 11,500
OYLYTA MoIBD SEHUAME 20
5,000,000,000 *0. 23% 1,500
MBS ELSHSL2B/HS) 2,741,945 4,596,909 A1,854,964
| 154,734
Al 84,809
= 2,502,402
MEES 2 BAXS 1,470,799 1,442,333 28,466
| 154,734
Al 84,809
2 1,231,256
252 N 496,722 494,780 1,942
201 Lur2 | 6,000 6,000 0
01 ALR eIt 1,000 1,000 0
CHEIES=Y] 1,000
O=2g %4 2Y8E 22 1,000,000 1,000
02 ZZ2H| 5,000 5,000 0
02222 2 AA 5,000
O=YE %4 ZRL3 5,000, 0002 5,000
202 01t 1,800 1,800 0
NETLL 1,800 1,800 0
o2l 0it| 1,800,0002 1,800
301 LB A3 488,922 486,980 1,942
1ozHe - 2S2S243 488,922 486,980 1,942
o=y 2% 486,922
o=z 202,243
. NEX 2,970, 1002 * 12 +122 35,642
RS 2,313,900 x62 +122 166,601
o™24g 16,855
. NER 2,970, 1002 1/2%1% %23 2,971
L 2,313,9002 1/2+6% *23] 13,884
OB2ALIIAS 5,280
. NEX 80,0002 * 124 +122 960
LR 60,0002 *62 *122 4,320
ON=4g 60,0002 x7% +122 5,040
OFAZ AL 130,0002 7 * 122 10,920
OZFE S It 20,226
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SN 2B
HH: MENSELS(SSL2E/HE)
2P MEEs 2 AKE (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
o N=Xt 2,970, 100& %0.6+ 12 »23 3,565
o 2,313,900& +0.6+6H »23] 16,661
OS2 a3 202,243,000&+1/12%1/30«10 5,618
OX =2 X 11,940
o NEXt 155,000 x1E 128 1,860
. H= 140,000& 6 12 10,080
Osd=+¢ 17,400
o KN=Xt 250,000 1H«12& 3,000
o M= 200,000& ~6H 122 14,400
OXNEX==¢ 100,000 «1& =128 1,200
OXE X &=l 500,000 x1E +12& 6,000
OzZtAld| 50,000 x7E*12& 4,200
ORsdd+ He€ 500,000& 6E x12& 36,000
O& &= 11,000,000 11,000
Olaldat Zas 11,000,000 11,000
Ost=4god Asld 2,000,000 *12] 2,000
o=yl 15,000,000& 15,000
O2sE3H 25,000,000& 25,000
OU=a&Eot&H 35,000,000 35,000
O=Zgl 45,000,000 45,000
O&=Uzl HotAdH 2,000,000& 2,000
=T =2 s N&E 87,625 84,025 3,600
307 212+01 ™ 84,025 84,025 0
02 QlztH & E X 84,025 84,025 0
o= M= N 59,117
Od=ZHE oAt 48,717,000& 48,717
OdJIE= & 2Ag3 S 8,000,000& 8,000
OAMR4 2 2,400,000& 2,400
o=z degM=sz X2 24,908
Oa 23 21Ay] 16,508, 000& 16,508
OAMR4 2d4 2,400,000& 2,400
ON=de=s8E 6,000, 000& 6,000
402 QI Z2tXH2 01 A 3,600 0 3,600
01 BlIZtA= 2= 3,600 0 3,600
o=z dEN=3 N 3,600
Od=H 2 1,200,000 =3CH 3,600
z)|tel 2 d=03 X& 509,100 553,000 A43,900
307 212+01 & 509,100 538,100 229,000
04 QIZtHALE X 509,100 538,100 29,000
ORM158] ARl XSS 33,000,000 33,000
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SN 2B
FH: MEHsSE4dsi(2L2Y/HK)
el Msgs ¥ AKX (el &)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
OM145 2= =503 13,600,000& 13,600
OHM14s 2= =3 5,500,000& 5,500
ORM143l =2=I| HILIAWS 5,500, 000& 5,500
OHN 143 =2==I1 HOIE2U 3 5,500, 000& 5,500
OM133 =2=J| HHECQIE S 13,000, 000& 13,000
OM133 2= -3 5,500,000& 5,500
OM133 Z2=J] E-U3 5,500,000& 5,500
OHN 128l 2+J 22Uzl 5,500,000& 5,500
OM11al 2=I| =22l 5,500,000& 5,500
OHN9al =Z=J| O3 5,500, 000& 5,500
OHM9g == St 5,500, 000& 5,500
ON9s Z=J| ZAAl SOISHOE2U S
5,500, 000& 5,500
OHMb5s Z2=J| 2= 5,500, 000& 5,500
OHN53 Z2=J| WHA2ect0lY Uzl
5,500, 000& 5,500
OHN43 Z=I| =S U3 5,500, 000& 5,500
OHM33 22| 2II3U3 5,500, 000& 5,500
ORM33 =Z2==J| AFAU2 5,500,000& 5,500
ORM2g Z=J| MA=ZU3 5,500,000& 5,500
OHNZ22 Z=J| S&UH3 5,500,000& 5,500
OsH MBS (Z7,00+) 24,000,000 24,000
OWX=E" 43 NA(E,9) 14,000,000 14,000
243 Hsiz =8 X2 20,000,000& 20,000
os=zJ SEMHaA 4,000,000& 4,000
OM=ol stz el 17,000,000& 17,000
ORad 54 % RYFLE X
10,000,000& 10,000
osHdUzal &It XN&E 2,000,000& 2,000
o&= =20z 100,000, 000& 100,000
O&dot d=ttCt&Hel =S
35,000,000& 35,000
OUER HI0HAEFUS 50,000, 000& 50,000
OX =LA SEHH 2 30,000, 000& 30,000
OH = LHAMTBOH 2 50,000,000& 50,000
ZHE NS X2 53,000 0 53,000
307 21Ztol & 53,000 0 53,000
02 It A8 X 53,000 0 53,000
OZUE HXs2¢c XA 53,000
OZX=¢ 21,600,000& 21,600
O=z&d| 10,800,000& 10,800
Otisl =&l 11,500,000& 11,500
O83 ¥ B8 8 9,100, 000& 9,100
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SM: 25T
M MERSBHH(SHUBZ/AR)
ol HISES L HAX (B9 &2
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot HwsZ
MBS0 29 15,002 15,002 0
Al 7,501
2 7,501
307 BI2+0|H 15,002 15,002 0
Al 7,501
2 7,501
02 QABABE 15,002 15,002 0
OMEHSRA 2% 15,002, 0002 15,002
Al 7,501
2 7,501
01210 MsSmA X 4,320 4,320 0
Al 2,160
2 2,160
307 BI2+0|H 4,320 4,320 0
Al 2,160
2 2,160
02 QABABE 4,320 4,320 0
©O0RI0l MSDA X 4,320,000 4,320
Al 2,160
2 2,160
HAE MDA N 4,320 4,320 0
Al 2,160
2 2,160
307 BI2+0IH 4,320 4,320 0
Al 2,160
2 2,160
02 QIAAABE 4,320 4,320 0
OFAE MDA X 4,320,000 4,320
Al 2,160
2 2,160
BAHSHS B 3,960 3,960 0
Al 1,980
2 1,980
307 QI2+0IH 3,960 3,960 0
Al 1,980
2 1,980
02 Q1AM B E 3,960 3,960 0
om+HIUE 2% 3,960,0002 3,960
Al 1,980
2 1,980
MBS BIXI AL 220,800 209,280 11,520
| 110,400
Al 55,200
2 55,200
307 BI2+0| & 220,800 209,280 11,520
| 110,400




SN 252
I MENSBLE(EHLD/IS)
Sl HSES Y AKX (el & 2
_ _ _ N E
SA BB H(BH) - MBAY - B2 Ofl & o Gl o B2
A 55,200
2 55,200
02 BIAANBE 220,800 209,280 1,520
OMEBHIXCTK BHXI AL 220,800,0002 220,800
| 110,400
Al 55,200
2 55,200
HZMUHSEE KT XA 44, 160 41,856 2,304
| 22,080
Al 11,040
2 11,040
307 21201 & 44, 160 41,856 2,304
| 22,080
Al 11,040
2 11,040
02 IAAMRE 44, 160 41,856 2,304
ONZMHMSESX T XA
44, 160,0002! 44, 160
| 22,080
Al 11,040
2 11,040
ARXHISH AlEAL 31,790 31,790 0
Il 22,254
Al 4,768
2 4,768
307 21201 & 31,790 31,790 0
| 22,254
Al 4,768
2 4,768
02 DIHAMRE 31,790 31,790 0
OAZZUIRH Al 31,790, 0002 31,790
| 22,254
Al 4,768
2 4,768
HMSAL 8 2 22l 1,271, 146 3,154,576 A1,883,430
MEBHSAL &3 637,902 859,467 ~221,565
203 2= Z bl 4,500 4,500 0
03 Al B =R R =T Y| 4,500 4,500 0
OMETSAE LI A2
4,500,0002 4,500
401 Al EHIL 20| 633,402 854,967 A221,565
01 Al &bl 630,000 845,800 A215,800
ORUSEH OFAXH HXBABA
135,000,0002 135,000
O KTX DT HMSAIL £X o =piy
HI ALY 180,000,0002 180,000
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SN 233D
MM MEHSELSHSSL2Z/US)
ool MSAE 28 o el (cre): @
_ SIEN
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
OSYMSTH BEA 19t /éilg—M
225,000,000 225,000
OMSHOSEN SolstHAl MXTA
90,000,0002 90,000
03 Al& =t 3,402 9,167 15,765
OMEHSAIL &3 540,000, 00021 *0.63% 3,402
MEHSAL KX el 408, 244 466,029 A57,785
201 Yer2ey| 221,480 180,440 41,040
01 At 22t 17,000 2,000 15,000
OAtR T2l 17,000
Oger+gH| 3,000
L 2E HMSANE AZE 2LOIESE,
ZARE ) 3,000,000% 3,000
oYuxea 14,000
. A2 HSANE(ZR]X) 7,000,000 7,000
. AYHLAT 5,000,000 5,000
. KTX5HS MISAIA 2,000,000 2,000
02 TS| 204,480 178,440 26,040
0ZZ22 2 MA 204,480
OZLE MSAE BBRI(NESY =4
3 S) 2,000,0002! * 122 24,000
OMSAE 2 (A&2elg) 180,480
. ®I1e3 900, 00021 * 1274 A+ 122 129,600
L AL ERS 400,0002 +80H 4 %128 38,400
. SMR3 65,0008 * 120l A * 128 9,360
. CCTV 2354 AER
80,0008 30 A * 122 2,880
. HOISTV 2482 10,0009 =204 A+128 240
401 AlSH L2 THY| 186,764 255,486 168,722
01 Al H| 185,000 253,800 68,800
MEHSAL AZRNESS 40,000,000 40,000
OZLHMST HE L SHYLTA
55,000,000 55,000
ONERAZZENT BHIBBUZD SXTBA
30,000,0002 30,000
OMSAIE BOE CCTV &XIBA
60,000,000 60,000
03 Al&2 =Tt 1,764 1,686 78
OMEBHSAIL Sl 245,000,0002 0. 72% 1,764
THHIAL EA 225,000 0 225,000
401 AlEH L2 THY| 225,000 0 225,000
01 Al H| 225,000 0 225,000
OTYHMSAE =4 225,000
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SN 2SR
HH: MEHSHYSHEILBB/AS)
Sl MSAlE 23 2 2 (el &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il b o bRz
O& 225,000, 0002 225,000
H2Y AU (222 D) (JIEHIIE) 182,884 83,556 99,328
ol el (2522 D) 91,192 0 91,192
ol 2| 91,192 0 91,192
101 2121t 91,192 0 91,192
01 B4 86,926 0 86,926
ONADRAL 894321 #45AI 2418 <128 86,926
02 JIEHE B4 4,266 0 4,266
CNEEEEESISTEES
7,809%1 %451 24+ 1 122 4,266
JI2B(25 23D 91,692 83,556 8,136
2 91,692 83,556 8,136
201 YEr2 Y| 32,772 30,396 2,376
01 A2 22l 32,772 30,396 2,376
CHEER=1H 13,620
SELCPES- 13,620,0002! 13,620
CEE 19, 162,000 19, 152
202 04t 54,720 48,960 5,760
01 20l b 54,720 48,960 5,760
CENE] 54,720,002 54,720
203 2R FZH| 4,200 4,200 0
04 EHSYAREY| 4,200 4,200 0
ORANSYLRETY) 350,0002 128 4,200
HEES (2L (SHUDZY/BT) 963,953 2,027,734 ~1,063,781
L1 X & (25t 22 D) 963,953 2,027,734 ~1,063,781
NE22IBS 2Y 963,953 2,027,734 ~1,063,781
309 ME3 963,953 2,027,734 ~1,063,781
02 A - BHANHES 963,953 2,027,734 ~1,063,781
OANSZRIBE 2Y(201812) 274,714,002 274,714
OANEB2BL 2Y(SF252F)
32,626,002 32,626
OANET2IBEL 2Y(AHAIED)
42,822,002 42,822
ONE2BL 2Y(SFE YE SHE B
) 68,997, 0002 68,997
ONE2BE 2Y(HSALE)
544,794,002 544,794
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